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i H 5 B/ME HAE BAE Ay
ISR/ VNS Voo—Vss 3 15 i
:J?%U iﬁ]\ EEAJ:E VIS 0 VI)I)7VSS V
*%TU\ EE% EEA}:E VI)D7VIZI€ 0 15 V
*ﬁ?ﬂiﬁﬁ)\iﬁﬂj EEE Vixe Vour 0 Vo=V Vv
TAFRE T 0 60 C
| R T
HREBESERE:  T.=25C
e T H TR E& A VDD (V) | f/ME | 808U | o KAE | A
Vo= 0.5V 5 3.5 vV
A R
\Y; [ To |<1uA Vo= 1V 10 7.0 Vv
" PNGEN ©
Vo= 1.5V 15 11.0 vV
Vo= 4.5V 5 1.5 vV
R HLPA 2L
\Y; [ To |<1uA Vo= 9V 10 3.0 Vv
t N °
Vo=13. 5V 15 4.0 vV
5 4,95 vV
Vou | -t & | Tout| <1uA 10 9.95 vV
15 14. 95 vV
5 0.05 vV
Voo | fEHL P4 HE | Tour| <1uA 10 0.05 Vv
15 0.05 v
Iin OPNGR Vin=VDD or VSS 15 0.01 1.0 uA
Vo= 4.6V 5 -1.1 mA
Iow | rErHE P R Vo= 9.5V 10 -2.3 mA
Vo= 13.5V 15 -8.5 mA
Vo= 0.4V 5 2.2 mA
IoL G HLSF i H LR Vo= 0.5V 10 5.1 mA
Vo= 1.5V 15 19.0 mA
5 0.1 5 uA
Ipp | LAFHLA Vin=YDD or VSS 10 0.1 10 uA
15 0.1 20 uA
R Ta=25TC , R=200k, C.=51pF WL 777k .
i H 5 TR E& AT w/ME | Y | R £k VA
t 140
PHL VDD:5V ns
tpLH 400 ns
=] A, E‘\ SHl t 190
B RALH IR ) (1] PHL VDD=10V ns
REST to Q tPLH 230 ns
t 170
PAL VDD=15V ns
oL 190 ns
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« CL L NAMENE FE2E (0603) , FElEnb & EE N, HAHEEILS A VSS;

« Output: Q ¥y H I .

1
2
3. Input: ¥ %I NHESFE, f=1MHz, D=50%)5 %, t,=tf<20ns;
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